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Answer any five questions
All questions carry equal marks
Explain the following. 7 :
)Database Administrator 1) Data base languages.
What is DBMS? What are the advantages of Data Base Management Systems?
[8+7]
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Deﬁne generahzatmn and specmhzatlon‘? How it i is represented in E- R Model?

[7+8]
What is Relatmnal Mod ‘fwﬁxp ain about various domain and 1ntegr1ty
constrairits in Relational- 1 e> amples.
Let R = (ABC) and let 1] ;‘ d r2 hoth relations on schema R. Give an expression
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i ulus hdt,fls eqmvalcnt to each of the following.
%}(\}9 111) 1] /‘EZ ivyrt-r2  [9+6]

Explain the fol
i) SOME

@Wﬁg\ pe? tdj S{‘l{i SQL wrth examples.
1 _{);NOT %N u\) N, iv) EXCEPT

todmp /ement Trlggers in SQL with example. [8+7]

What is nomn\alqzanelf ? Exglau; 3NF BCNF and 4NF Normal forms: What is the
difference betweer{ .)NF ang BGNF Normal forms.

Explain what are ‘the . prﬁbl&fms caused by redundancy and decomposition of
relatlon _ S _ [8+7]

What is locklng Protocol? Describe the Strict Two Phase locking Protocol? What
can you say about the schedules.allowed by this protocol?

Explain the Time Stamp - Based Concurrency Control protocol? How is it used
to ensure serlallzablhty’? [7+8]

What is 10g file ? Explain about the Check point log based recovery scheme for.
recovering the database.
Explain about the Advance recovery system [9+6]

Explain the cluster index, primary and secondary indexes with examples.
What is indexing? Explain what are the differences between tree based index and
Hash based index. _ - [7+8]
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